& doubtnut

India's Number 1 Education App

MATHS

BOOKS - RD SHARMA MATHS
(HINGLISH)

POLYNOMIAL

1. If a and [ are the zeroes of the quadratic

polynomial f(z) = z* 4+ = — 2, find the value
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o Watch Video Solution

2.Find a quadratic polynomial whose zeros are
reciprocals of the zero of the polynomial

f(z) = az® +bx +c,a # 0,c # 0.

o Watch Video Solution

3. If @ and B are the zeros of the quadratic

polynomial f(z) =z* —z —2, find a
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polynomial whose zeros are

20 + 1 and 23 + 1.

° Watch Video Solution

4.If o and B are the zeros of the polynomial
f(z) = 2z + bz + k satisfying the relation
o’ + B2+ aB = 2741, then find the value of k
for this to be possible.

o Watch Video Solution
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5.1f a and (8 are the zeros of the quadratic
polynomial f(z) = kxz® + 4x + 4 such that

a? + B% = 24, find the value of k.

o Watch Video Solution

6. If o and B are the zeros of the polynomial
f(z) = 2> — bz + k such that a — 8 =1,

find the value of k.

o Watch Video Solution



https://dl.doubtnut.com/l/_WnpqMV3m1Vwu
https://dl.doubtnut.com/l/_dRxwVkgdN5ZR
https://dl.doubtnut.com/l/_Ffk2vwAdJscA

7. If a and B are the zeros of the quadratic
polynomial  f(z) = az® + bz +¢, then

evaluate: o*5*

o Watch Video Solution

8. If a and B are the zeros of the quadratic
polynomial  f(z) = az® + bz +¢, then
evaluate: (i) a? + B%alpha/beta+beta/alpha
a’ + B3 i + — (alpha”™2)/beta+

(beta”2)/alpha’

I o Watch Video Solution
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9.If a and B are the zeros of the quadratic

polynomial f(z) = z®> — px + ¢, then find

1 1
the values of (i) a® + ﬂz (i) — + =
a p

o Watch Video Solution

10. If f(x) is a polynomial such that
f(a)f(b) < 0, then what is the number of

zeros lying between a and b?

o Watch Video Solution
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11. For what value of k, is 3 a zero fo the

polynomial 2z + = + k?

o Watch Video Solution

12 If zeros of the  polynomial
f(z) = z° — 3pz® + gz — r are in AP, then
@ 2p°=pg—r (b) 20°=pg+r ()

p> = pg — 7 (d) None of these

o Watch Video Solution
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1B. If az?+bx+c=0,a,b,c € R has no
real zeros, and if ¢ < 0 , then which of the

following is true?a < 0a+b+c¢c>0a > 0

o Watch Video Solution

14.  What must be added to
f(z) = 4z 4 22 — 22* + = — 1 so that the
resulting  polynomial is  divisible by

g(z) = z* + 2z — 3.

° Watch Video Solution
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15. Find the values of a and b so that

z* + z° + 822 + ax + bis divisible by z* — 1.

o Watch Video Solution

16. Find all zeros of the polynomial
2z* + 723 — 1922 — 14z + 30, if two of its

zeros are /2 and — /2.

o Watch Video Solution
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17. If the polynomial
6z* + 8x° + 17z% + 21z + 7 is divided by
another polynomial 3z% + 4z +1, the
remainder comes out to be axz + b, find

a and b.

o Watch Video Solution

18. If a, B, v are the zeros of the polynomial

f(z) = 2° — pz* 4+ gz — 7, then
1 1 1

af * By " ya
(a)%(mg(c)—g(d)—i
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I O Watch Video Solution I

19. If o, B are the zeros of the polynomial

1 1
f(z) = az® + bx +c, then — —|—§ —
b> — 2ac b? — 2ac b2 + 2ac
22 (b) T (c) " (d)
b + 2ac
2

° Watch Video Solution

20. If a, B are the zeros of the polynomial

1 1
f(z) = az? + bz + ¢, then ~ + i = (a)
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b2 — 2ac b2 — 2ac b2 + 2ac
a2 (b) 2

b> + 2ac

2

C

C

o Watch Video Solution

21. Divide the polynomial
f(z) = 32> — 2> — 3z + 5 by the polynomial

‘g(x)=x-1and verify the division algorithm.

o Watch Video Solution
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22. Draw the graph of the polynomial f(x)=2x-
<5 Also, find the coordinates of the point

where it crosses x-axis

o Watch Video Solution

23. Draw the graph of the polynomial f(x)=x"2-

2

° Watch Video Solution
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24. Draw the graph of the quadratic

polynomial f(z) =3 — 2z —z = 2

° Watch Video Solution

25. If o and (8 are the zeros of the polynomial

f(z) =2+ pr+gq form a polynomial

whose zeros are (a 4 )% and (o — 8)°.

° Watch Video Solution
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26. Draw the graph of the polynomial
f(z) = — 42+ 4z — 1. Also find the vertex

of this parabola.

o Watch Video Solution

27. If the sum of the zeros of the quadratic
polynomial f(t) = kt* + 2t + 3k is equal to

their product, find the value of k.

o Watch Video Solution
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28. Find the zeros of the quadratic polynomial
z? + 7x +12, and verify the relation

between the zeros and its coefficients.

o Watch Video Solution

29. Find the zeros of polynomial
f(z) = 432> + 52 — 2¢/3; and  verify

relation between zeros and its coefficient.

o Watch Video Solution
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30. If @ and B are the zeros of the quadratic

polynomial f(z) = 2* — pz 4 ¢, prove that

G:2 ﬂ 2 p4 4p2

o Watch Video Solution

31. Obtain all the zeros of the polynomial

f(z) = 3z* + 62> — 222 — 10z — 5, if two of

" 5 ; 5
S Zeros are — and — —.
52 3 3

° Watch Video Solution
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32. Find the condition that the zeroes of the
polynomial f(z) = z°-px® + gr — r may be

in arithmetic progression.

o Watch Video Solution

33. Find the =zeros of the polynomial
f(z) = 2° — 5z* — 2z + 24, if it is given

that the product of its two zeros is 12.

o Watch Video Solution
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34. If aandp are the zeros of the quadratic
polynomial f(z) =z* -2z +3, find a

polynomial whose roots area + 2, 8 + 2.

o Watch Video Solution

35. If a and B are the zeros of the quadratic
polynomial f(z) =2z* — 52+ 7 , find a
polynomial whose zeros are 2a + 38 and

Ja + 28.

° Watch Video Solution



https://dl.doubtnut.com/l/_Sv43FERih3eQ
https://dl.doubtnut.com/l/_aziLObUbko5F

36. If a and 3 are the zeros of the quadratic

polynomial  f(z) = az* +bx +c , then
B o

evaluate: (i) P + B b (i)

a2 B2 o /8
“(Na)*”(wz)

o Watch Video Solution
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